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_ , Cabinet Door panel widths of B (mm) Cabinet Door panel widths of C (mm)
Cabinet Door panel thicknsee of A(mm) Gap X (mm) o Ore oo Turg e Ore .
16 - 22 4 496 494 996 992
23-25 4 496 (R=T) 494 (R=9) 996 (R=T) 992 (R=9)

EX: Ifthe cabinet door panel thickness is 20mm,the gap should be 4mm,case one: cabinet door panel widths should be 496mm,C is 996mm;case two:cabinet door panel widths should be 494mm,Cis 992mm.

CaseOne

Case Two

A=Cabinet Door panel thicknsee B=Top Cabinet Door panel widths C=Drawer Cabinet Door panel widths X=Gap R=Cabinet Door filleted corner
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Min606 minus height of baseboard

Cabinet door panel requirements:

(1) The left cabinet door panel is the same size as the right cabinet door panel,
the width is B,and the height is matched according to the cabinet boay;

(2) The door panel and the cabinet body are full overlay;

(3) The height of baseboard is between 80-120mm, otherwise the heat dissipation
of the refrigerator will be affected;

(4) Power cables and water pipes can be opened on one side or both sides according
to the actual situation.

(5) The power socket is in the adjacent cabinet.
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